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College Board 
College Board is a mission-driven not-for-profit organization that connects students to 
college success and opportunity. Founded in 1900, College Board was created to expand 
access to higher education. Today, the membership association is made up of over 6,000 
of the world’s leading education institutions and is dedicated to promoting excellence 
and equity in education. Each year, College Board helps more than seven million students 

http://collegeboard.org
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Sample Questions
Directions for questions 1–20

For each of the questions below, choose the best answer 
from the four choices given. 

1. If there are 2.2 pounds in 1 kilogram, how many 
pounds are there in x kilograms? [basic]

A. x
2.2

B. 2.2x

C. 2.2 + x

D. x
2.2

2. 
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CUSTOMERS  AT A STORE

The bar graph above shows the number of customers 
who shopped at a store Monday through Thursday of 
one week. If the number of customers on Friday was 
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16. Reyna has 5 coins worth 10 cents each and 4 coins 
worth 25 cents each. If she chooses two of these coins 
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Answer Key
1. B
2. A
3. D
4. C
5. B
6. B
7. B
8. B
9. D
10. C
11. B
12. A
13. D
14. D
15. C
16. C
17. A
18. B
19. D
20. D
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10. Choice C is the correct answer. If an equation of a line in the xy-plane is in  
slope-intercept form, the slope is the coefficient of x, so the slope of the line  
y = mx − 4 is m    , and the slope of the line y = x − 4 is 1. The slope of the line y = mx − 4  
is less than the slope of the line y = x − 4, so it must be true that m < 1.

11. Choice B is the correct answer. Since the 12 tenth graders averaged 77 on the 
midterm exam, the sum of their scores was 12 × 77 = 924    ; since the 9 eleventh graders 
averaged 91 on the exam, the sum of their scores was 9 × 91 = 819. Therefore, the 
sum of the scores of all 12 + 9 = 21 students in the class was 924 + 819 = 1,743, and 
their average score on the midterm exam was 1,743 ÷ 21 = 83.

12. Choice A is the correct answer. The expression (3x − 12)(x + 4) can be rewritten as 
3(x − 4)(x + 4) = 3(x2 − 16), which after applying the distributive property becomes  
3x2 − 48  . Hence, 3(x2 − 16) and 3x2

�2

−
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18. Choice B is the correct answer. The area of a triangle can be calculated as half the 
product of its base and height, 1

2
A = bh. Hence, the area of the triangle shown is 

(x x + 1)1
2 2

x2 + x= . Since the area of the triangle is 21, it follows that 21=2
x2 + x , which 

is equivalent to x2 + x − 42 = 0      . Solving x2 + x − 42 = x + 7 x − 6 = 0      ( )(  )   for x gives x = −7,  
x = 6. Since the height of a triangle cannot be −7, the value of x must be 6.

19. Choice D is the correct answer. The function f is not defined as a real number if the 
expression under the radical is negative. For x = 4, 4 42 –12== f (4) – , which is 
not a real number. On the other hand, 4 4 0,==f ( 2) = f (2) –– , and 4 02 2==f (0) – . 
Therefore, of the choices given, the function f is not defined as a real number for x = 4  .

20. 
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